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SECTION A: {20 % 2 iarks)
Choose the correst answer for each question and shiade its number iz tha
OAS provided with a 28 p=ncil.

1. Suhtract 206 tens from 50 hundreds _

(y 30 (2) 200
(3y 2000 (4) 30000 { }
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The value of the Higit 7lin 67 584 s tens,
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3. How rnany multinies of @ fess than 72 are odd nambers?

1 2 2)
3y 4 {4)

,
! 1S
\

NG

\

ey
Nt

4, When the produc of 752 and 8 is divided by 4, the answer is

(0D ) 1504
3y 1840 (4) 6016 \
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Mr Chan had 430 ping-pong balls. He gave 2 ping-pong balis to each of his
H el &

B
40 pupils and kopt the restinto 4 containers. How many ping-pong balis are
there i1 each cortainer? .
{4 25 (2) RO
(3) Qo {4} 100 / { )
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8. Express 3-~m i o
{1y 30 om (2) 3i8en
(2) 28T em (4) 480 cm { \
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Brandon completed writing his composition in 48 minutes. What fraction of

an hour was it?
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720° can be formed by _
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2° . 1 ' . .
5 of ..y is equal to n of a complete turn. Ly is
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=% What is the missing denominator in the box?
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(1) 225° (2} age
(3)  72° (4y  45°
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2.

in s aehanl aneust NAFA test, Jack ran round a ractangular track 3 fimes and
rrmloted the 1800 m run. What is the length of the track, if given the

4

:Jih s B0 m?

{1  840m {2y 240m
2y 30m {4y 10m ( )

. "

L300 ie a square. The area of tha shaded part iz 32 cm?,
Vihat 12 the length of AD?

{h 4 oy {2y 8 cm

(2 T8 oM 4y Bdom { 3
Theregre R hundredths in 0.68.

i DI ¢ 2y . 8

3y 60 {4y = 68 { 3

5y expressed as adackmalis o
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The number betwesen .09 and 3.394s .

Y 87a ) 274
3 275 4y 276 { )
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Section B: (20 X 2 marks)
For each guestion, write the correct answer in the blank provided,

88 830 is X 2 more than 88 1100.

¢ - -
What is the sum of 20 thousands 5 hundreds and
20 hundreds 18 tens?

Subtract 10 from the sum of the fifth muitiple of ¥ and the
eighth multiple of 8, '

When a number is-divided by 6, its gives & quotient of
312 and a remainder of 5. What is the number?

Find the value of % of 727
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26.  The figure bekiw is madge up of 15 rectangles. How many more rectangles

, .2 ] .
need to be shaded so that’ = of the figure remains unshaded?
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27.  Jennyis 14 vears old. Sheis — her mother’s age.

(,u);-..a

an

How oid war her mother § years ago?

- . . o R R I
28. Mr Tan painted 1 of hir fence while his son painted 7 of

the remaining fepca: What fraction of the fence rermaine

unpainiad?

The table betow shows the amount of money collected by various stalls ata

funfair. Use the table {0 answer questions 29 and 3¢,

-}_ﬁl@§ of Stalls Amount collected
P AMusic $255

| Sames $600

| Handicratt $235

{ Food i $988

N
0

than at the Jgarras gtal”?

0. What was tho tolal amount collected at the fua fan?

How much mare money was coliected at the food stall
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31.  Inthe rectangle below, not drawn to scale, find £X. i o |
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32, Inthe following figure, ABCDEF, write down the pairufiine ; i
which is paralle] o ine AB? .. o |

For Question 33 and Question 34, refer to the figure below .The figure beiow
is made up of similar squares. Each side of the square is 3 cm.

[ 3
4 v — I
33.  Find the area of the figure. { Cim ! ;
;
34, It two of the shaded squares are removed, find fhe ‘ - i
perimeter of the new figure. { - l
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S S 4 e ps a decimal,
e 106G 1000

found off e sun of 17.68 and 29.27 to 1 rlecinal place.

Subfract 23 tentbs from 237.61. The answeris

NUPNOWI

The {otal fength of & similar poles is 3.95n.
YWhat is the tetal length of 8 such poles?

Peter weighs 28,7k Johnny is 4.7 kg heavier than Peter.
How much o they weigh altogether?
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* Section C: (5 X 4 marks) |
Work out these problems carefully. Show your workings and statements clearly.

41.  Johnson paid $180 for a Gamebuy and 3 cartridges. If the Gameboy cost
twice as much as the vost of 3 cartridges, find the cost of each cartnoge.

42 MrMass weighs 85 kg. His brother is -E- his waight while hiz sister s

1% ( hishveight. What is the total weight of Mr Mass and his wo siblings?



43, There are 90 button magnets in a container, %i"‘)f them are red and the rest

JLCE N

are biue. Wher mare red button magnets are placed into the contaiper, the
fraction ¢f the rad button magnats increased to-- .
/
&} How many of each coioured bution magnets ars there in the
container™

b How many new red button magnets were placed into the
container? av Hyal ~

(44) The fioor of a rentangular room, which is 15m by 12m, is to be carpated
feaving e margin of §.5m around it. Find the cost of faying the camet ¥ 1
sguare meatre of carpat ¢osts $14.00.
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Jenny has 3 strings of different lengths. The green stang is 0.55m fonger
than the red sting which measures 2.66m. If the iength of the blue stiing is
half of that of the green one, find the total longth of the three tisbons:
Round off your answer to 1 decimal place.

o ————

End of Paper
Have you checked your work?
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a) 30 red button magnet

b)Y 50 new red butten magrnets

$ 1512
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